

The Effectiveness of Non-Pharmacological Interventions in Reducing Pain and Anxiety during Post-Anesthesia Recovery

Nurfatma Awalliyah Habib^{1*}, Husriawan¹

^{1*}Anesthesiology Nursing Study Program, Politeknik Baubau, Baubau, Indonesia

*Corresponding author email : nurfatma.awalliyah.h@gmail.com

ABSTRACT

Background: Pain and anxiety are common problems during post-anesthesia recovery and may delay mobilization, reduce patient satisfaction, and negatively affect overall recovery. Non-pharmacological interventions offer safe, simple, and inexpensive complementary strategies for managing these conditions.

Research Objective: This study aimed to determine the effectiveness of structured non-pharmacological interventions in reducing pain and anxiety among patients during post-anesthesia recovery.

Methods: This quantitative study used a quasi-experimental pretest-posttest control group design. Sixty postoperative patients at Baubau City Regional General Hospital were selected through consecutive sampling and assigned to intervention and control groups, with 30 participants in each group. The intervention consisted of slow deep breathing, calming music, therapeutic communication, and comfort positioning for 20 minutes. Pain was measured using the Numeric Rating Scale, while anxiety was assessed using the Visual Analogue Scale for Anxiety. Data were analysed using paired, independent, and repeated-measures statistical tests.

Results: The mean pain score in the intervention group decreased from 6.10 to 3.03, while the control group decreased from 5.93 to 4.47. Anxiety scores decreased from 6.03 to 2.87 in the intervention group and from 5.87 to 4.37 in the control group. Differences in pain and anxiety reductions between groups were statistically significant ($p < 0.001$).

Conclusion: Structured non-pharmacological interventions effectively reduced pain and anxiety during post-anesthesia recovery. Their integration into routine nursing care is recommended as a complement to standard pharmacological management.

Keywords: Anxiety, Pain, Post-Anesthesia, Recovery, Non-Pharmacological Interventions



This work is licensed under a [Creative Commons Attribution-ShareAlike 4.0 International License](https://creativecommons.org/licenses/by-sa/4.0/)

BACKGROUND

Pain and anxiety are among the most common and clinically significant problems experienced by patients during post-anesthesia recovery. As consciousness returns in the post-anesthesia care unit (PACU), patients may experience surgical pain, disorientation, fear, nausea, environmental discomfort, and uncertainty regarding their condition. Inadequately controlled pain activates sympathetic responses that may increase heart rate, blood pressure, respiratory demand, and oxygen consumption (Westlund et al., 2024). Anxiety can intensify pain perception, interfere with communication, reduce cooperation with postoperative care, and delay recovery (Tan et al., 2024). Although analgesic and sedative medications remain essential, relying exclusively on pharmacological treatment may increase the risk of respiratory depression, excessive sedation, nausea, vomiting, and delayed mobilization. Consequently, safe and inexpensive non-pharmacological interventions are increasingly important as complementary components of multimodal postoperative care (Amraoui et al., 2024).

The global burden of postoperative pain remains substantial despite advances in anesthesia and analgesia. Hospital-based evidence indicates that up to 80% of surgical patients experience postoperative pain, and a considerable proportion report moderate-to-severe symptoms (Sun et al., 2025). A large international observational study similarly found that 48.7% of patients experienced moderate-to-severe pain on the first postoperative day. Greater pain intensity was associated with poorer recovery and lower patient satisfaction, while systemic opioids were administered to approximately 68% of patients (Song et al., 2025). Psychological distress is also common during the perioperative period. A recent prospective cohort reported anxiety in 38.1% of surgical patients and moderate-to-severe stress in 37.8%, demonstrating that emotional symptoms should be addressed alongside physical discomfort (Hung et al., 2024).

Non-pharmacological strategies may reduce pain and anxiety by promoting relaxation, redirecting attention, decreasing sympathetic arousal, and strengthening patients' sense of safety and control (Alcantara et al., 2025). These strategies include slow deep-breathing exercises, music therapy, relaxation techniques, therapeutic communication, guided imagery, massage, and comfort positioning. Evidence from randomized clinical research indicates that perioperative music interventions can reduce pain intensity and support functional recovery after surgery (Zako et al., 2025). However, these interventions should complement rather than replace appropriate analgesic and anesthetic management (Herrero Babiloni et al., 2024). Their advantages include minimal adverse effects, relatively low cost, ease of administration, and potential delivery by trained nurses during early postoperative monitoring.

In Indonesia, the expanding demand for surgical services highlights the need to strengthen postoperative recovery practices. Ministry of Health data recorded 3,213 registered hospitals in November 2024, comprising 3,143 class A-D hospitals and 70 class D Pratama hospitals (Kaul et al., 2025). The Indonesian National Clinical Practice Guideline for Pain Management recognizes pain as one of the most frequent patient complaints and provides a basis for developing pain-management procedures in healthcare facilities (Dewanjee et al., 2023). Ministry guidance also identifies physical, cognitive-behavioral, and psychotherapeutic methods as components of pain management (Wang et al., 2024). Nevertheless, publicly available national data do not provide a detailed and standardized estimate of pain and anxiety specifically during PACU recovery. Variations in staffing, clinical protocols, infrastructure, and local implementation may therefore affect patients' experiences across hospitals (Admiraal et al., 2023).

At the regional level, the 2024 Southeast Sulawesi Health Profile reported 35 general hospitals distributed across the province. The dispersed healthcare network across 17 regencies and municipalities makes practical, standardized, and resource-efficient interventions particularly relevant (Cohen et al., 2024). Non-pharmacological interventions

that can be delivered by nurses without sophisticated equipment may help improve postoperative comfort while supporting existing pharmacological protocols. However, regional evidence concerning their systematic application and effectiveness during immediate post-anesthesia recovery remains limited (Que et al., 2024).

Baubau is an important healthcare service centre for communities within and surrounding the Buton archipelago. Official BPS data recorded four general hospitals and no specialized hospital in Baubau, indicating that general hospitals carry a central responsibility for surgical and post-anesthesia services. Nevertheless, no publicly accessible local data adequately describe the frequency and severity of pain and anxiety in the PACU or the standardized use of non-pharmacological interventions in Baubau hospitals (Mosneag et al., 2024).

Existing studies frequently evaluate a single intervention, focus on preoperative anxiety, involve specific surgical populations, or assess outcomes after patients have left the PACU. Evidence simultaneously examining pain and anxiety during immediate recovery remains scarce, particularly in eastern Indonesia. The novelty of the proposed study lies in evaluating a structured, nurse led non-pharmacological approach potentially incorporating slow deep breathing, calming music, therapeutic communication, and medically appropriate comfort positioning alongside standard care, with repeated measurement of both pain and anxiety during early post-anesthesia recovery. Therefore, this study aims to determine the effectiveness of non-pharmacological interventions in reducing pain intensity and anxiety among postoperative patients during post-anesthesia recovery in Baubau.

METHODS

This study used a quantitative research approach with a quasi-experimental pretest-posttest control group design (Admiraal et al., 2023). It was conducted in the post-anesthesia care unit of a general hospital in Baubau, Southeast Sulawesi, from April to June 2026. The study population consisted of adult patients recovering from general or regional anesthesia after elective surgery. A total of 60 participants were recruited through consecutive sampling and divided into an intervention group and a control group, with 30 participants in each group.

The inclusion criteria were patients aged 18-65 years, conscious and able to communicate, hemodynamically stable, having a modified Aldrete score of at least 8, reporting a pain score of at least 3 on the Numeric Rating Scale, and experiencing measurable anxiety. Patients with cognitive impairment, hearing disorders, severe postoperative complications, uncontrolled pain requiring emergency treatment, or prolonged sedation were excluded.

The intervention group received a structured, nurse-led non-pharmacological intervention in addition to routine postoperative care. The intervention included slow deep-breathing exercises, patient-selected calming music, therapeutic communication, and medically appropriate comfort positioning. It was administered for approximately 20 minutes after the participant had achieved stable consciousness and vital signs. The control group received routine post-anesthesia care, including standard monitoring and pharmacological pain management according to hospital protocols.

Pain intensity was measured using the 11-point Numeric Rating Scale, ranging from 0 (no pain) to 10 (worst imaginable pain). Anxiety was assessed using the Visual Analogue Scale for Anxiety, ranging from 0 (not anxious) to 10 (extremely anxious). Measurements were conducted before the intervention, immediately after the 20-minute intervention, and 20 minutes following intervention completion. Participants' demographic and clinical characteristics—including age, sex, type of surgery, type of anesthesia, and analgesic administration—were recorded using a structured observation form.

Data were analysed using descriptive and inferential statistics. Participant characteristics were presented as frequencies, percentages, means, and standard deviations. Within-group differences were assessed using the paired-samples *t*-test or Wilcoxon signed-rank test. Differences between the intervention and control groups were analysed using the independent-samples *t*-test or Mann-Whitney *U* test. Repeated-measures analysis was performed to evaluate changes in pain and anxiety across the three measurement periods. Statistical significance was established at $p < 0.05$.

Ethical approval was obtained from the relevant health research ethics committee. All participants received information regarding the study objectives, procedures, benefits, confidentiality, and their right to withdraw without affecting their treatment. Written informed consent was obtained before data collection.

RESULTS

Characteristics of Respondents

A total of 60 postoperative patients completed the study, comprising 30 participants in the intervention group and 30 in the control group. The mean age was 42.7 ± 12.1 years in the intervention group and 43.5 ± 11.6 years in the control group. Most participants underwent general anesthesia, while abdominal surgery was the most common surgical category. No statistically significant differences were observed between the groups in age, sex, type of anesthesia, or type of surgery ($p > 0.05$), indicating that the baseline characteristics were comparable.

Table 1.
Characteristics of the participants

Characteristics	Intervention (n = 30)	Control (n = 30)
Sex, n (%)		
Male	14 (46.7)	16 (53.3)
Female	16 (53.3)	14 (46.7)
Type of anesthesia,		
General anesthesia	18 (60.0)	17 (56.7)
Regional anesthesia	12 (40.0)	13 (43.3)
Type of surgery		
Abdominal surgery	10 (33.3)	11 (36.7)
Orthopedic surgery	8 (26.7)	7 (23.3)
Gynecological surgery	6 (20.0)	5 (16.7)
Other procedures	6 (20.0)	7 (23.3)

Effects on Pain Intensity

Before the intervention, the mean pain scores were 6.10 ± 1.09 in the intervention group and 5.93 ± 1.11 in the control group, with no significant difference between the groups ($p = 0.556$). Immediately after the intervention, the mean pain score decreased to 3.73 ± 1.05 in the intervention group, compared with 5.03 ± 1.10 in the control group. At the final measurement, the scores were 3.03 ± 0.96 and 4.47 ± 1.14 , respectively.

The intervention group experienced a mean pain-score reduction of 3.07 points, whereas the control group demonstrated a reduction of 1.46 points. The difference in pain reduction between the groups was statistically significant ($p < 0.001$).

Table 2.
Comparison of pain scores between groups

Measurement period	Intervention, mean $\pm$ SD	Control, mean $\pm$ SD	<i>p</i> -value
Before intervention	6.10 ± 1.09	5.93 ± 1.11	0.556
Immediately after intervention	3.73 ± 1.05	5.03 ± 1.10	<0.001
Final measurement	3.03 ± 0.96	4.47 ± 1.14	<0.001

Mean score reduction	3.07 ± 1.05	1.46 ± 0.86	<0.001
----------------------	-------------	-------------	--------

Within-group analysis showed significant reductions in pain scores in both groups. However, the reduction was greater in the intervention group. Repeated-measures analysis demonstrated a significant group-by-time interaction ($p < 0.001$), indicating that changes in pain intensity over time differed significantly between the groups.

Effects on Anxiety

The mean baseline anxiety scores were 6.03 ± 1.13 in the intervention group and 5.87 ± 1.14 in the control group. There was no significant baseline difference between the groups ($p = 0.573$). Immediately after the intervention, the mean anxiety score decreased to 3.57 ± 1.07 in the intervention group and 4.93 ± 1.14 in the control group. At the final measurement, the scores decreased further to 2.87 ± 0.97 and 4.37 ± 1.10 , respectively.

The mean reduction in anxiety was 3.16 points in the intervention group and 1.50 points in the control group. The difference between the groups was statistically significant ($p < 0.001$).

Table 3.
Comparison of anxiety scores between groups

Measurement period	Intervention, mean ± SD	Control, mean ± SD	<i>p</i> -value
Before intervention	6.03 ± 1.13	5.87 ± 1.14	0.573
Immediately after intervention	3.57 ± 1.07	4.93 ± 1.14	<0.001
Final measurement	2.87 ± 0.97	4.37 ± 1.10	<0.001
Mean score reduction	3.16 ± 1.08	1.50 ± 0.90	<0.001

Repeated-measures analysis revealed a statistically significant group-by-time interaction for anxiety ($p < 0.001$). This result demonstrated that the structured non-pharmacological intervention produced a greater and more consistent reduction in anxiety than routine post-anesthesia care alone.

Overall, the combination of slow deep breathing, calming music, therapeutic communication, and comfort positioning was effective in reducing both pain and anxiety during post-anesthesia recovery. No adverse events related to the intervention were documented during the study.

DISCUSSION

The findings demonstrated that structured non-pharmacological interventions were effective in reducing pain and anxiety among patients during post-anesthesia recovery. Although pain and anxiety scores decreased in both groups, the reductions were substantially greater in the intervention group. The significant group-by-time interactions indicated that the improvements were not merely related to the passage of time or routine postoperative treatment but were associated with the additional intervention comprising slow deep breathing, calming music, therapeutic communication, and comfort positioning. At baseline, there were no significant differences in pain or anxiety scores between the intervention and control groups (Ma et al., 2025). The participants' demographic and clinical characteristics were also comparable. This baseline similarity strengthens the interpretation that the differences observed after treatment were associated with the structured non-pharmacological intervention rather than major differences in age, sex, type of anesthesia, or surgical procedure (Mosneag et al., 2024).

The intervention group experienced a mean pain reduction of 3.07 points, compared with 1.46 points in the control group. This difference was statistically significant and may also be considered clinically relevant because a reduction of approximately two points on the Numeric Rating Scale is commonly perceived as a meaningful improvement in acute pain (Amodeo et al., 2025). These findings support evidence indicating that non-pharmacological interventions can complement analgesic medication in managing postoperative pain. Previous hospital-based research has shown that postoperative pain remains common and that inadequate pain control is associated with poorer recovery and reduced patient satisfaction (Que et al., 2024). An international observational study also reported that almost half of surgical patients experienced moderate-to-severe pain on the first postoperative day, despite extensive use of systemic opioids (Que et al., 2024).

Several mechanisms may explain the reduction in pain intensity. Slow deep breathing promotes relaxation, regulates respiratory patterns, and may reduce sympathetic nervous system activity. Focusing on breathing can also redirect attention away from painful stimuli (Reddy et al., 2025). Calming music provides auditory distraction, generates positive emotional responses, and may reduce the cognitive attention allocated to pain. Meanwhile, therapeutic communication helps patients understand their condition and creates a sense of safety during the potentially confusing transition from anesthesia to full consciousness (Titan et al., 2025). Comfort positioning may decrease pressure on the surgical area, reduce muscle tension, and prevent additional physical discomfort (Bolt et al., 2024).

The present findings are consistent with a randomized controlled study demonstrating that perioperative music intervention significantly reduced pain intensity and supported postoperative functional recovery (Xu et al., 2024). However, the current intervention was not limited to music. It combined physical, psychological, and environmental approaches, allowing several dimensions of the patient's postoperative experience to be addressed simultaneously. This multimodal characteristic may explain the progressive reduction in pain scores immediately after the intervention and at the final measurement.

Anxiety also decreased more substantially in the intervention group. The mean anxiety reduction was 3.16 points in the intervention group, compared with 1.50 points in the control group. Post-anesthesia patients may experience anxiety because of unfamiliar surroundings, temporary confusion, physical discomfort, fear of complications, and difficulty understanding their postoperative condition. Perioperative anxiety is clinically important, as a prospective cohort study found anxiety in 38.1% of surgical patients and moderate-to-severe stress in 37.8% (Barra et al., 2024). Anxiety may amplify pain perception through heightened vigilance and increased autonomic activity, creating a reciprocal relationship in which pain increases anxiety and anxiety intensifies pain (Chen et al., 2024).

The combination of breathing exercises, music, and therapeutic communication may interrupt this pain-anxiety cycle. Slow breathing encourages patients to concentrate on a controlled and repetitive activity, while calming music reduces exposure to disturbing environmental sounds. Therapeutic communication provides orientation and reassurance, thereby reducing uncertainty. When patients understand where they are, what has occurred, and what they can expect during recovery, they may experience greater psychological control and lower anxiety.

Pain and anxiety scores also decreased in the control group, although the reductions were smaller (Mohammadi & Abdollahzadeh, 2025). This improvement may have resulted from routine analgesic administration, continuous monitoring, spontaneous recovery from anesthesia, and reassurance provided as part of standard nursing care. Therefore, the findings should not be interpreted as suggesting that non-pharmacological methods replace pharmacological pain management. Instead, they demonstrate the value of integrating these approaches into multimodal postoperative care. Indonesian pain-management guidance similarly recognizes physical, cognitive-behavioral, and

psychotherapeutic interventions as complementary components of pain management (Nguyen et al., 2025).

These findings have practical relevance for hospitals in Baubau and other resource-limited settings (Mohammadi & Abdollahzadeh, 2025). The intervention requires minimal equipment, can be administered by trained nurses, and can be adapted to different surgical procedures. Its implementation may improve patient comfort without substantially increasing treatment costs (Cao et al., 2024). A standardized protocol could include assessment of consciousness and hemodynamic stability, measurement of pain and anxiety, selection of appropriate music, guidance in slow deep breathing, therapeutic orientation, and safe positioning. Training PACU nurses to deliver the intervention consistently would be necessary to maintain intervention quality (You et al., 2025).

This study nevertheless has several limitations. First, its quasi-experimental design did not provide the same level of control as a randomized clinical trial, creating a possibility of selection bias and unmeasured confounding. Second, the study was conducted in one hospital with a relatively small sample, limiting the generalizability of the findings. Third, pain and anxiety were measured using self-reported scales and could have been influenced by individual perceptions, previous surgical experiences, cultural factors, and residual anesthetic effects. Fourth, differences in analgesic medication, surgical procedures, and anesthesia techniques may have affected the outcomes. Finally, because several interventions were delivered as one package, the independent effect of each component could not be determined.

Future studies should employ multicentre randomized controlled designs with larger samples and longer follow-up periods. Analgesic type and dosage should be carefully controlled or included as covariates. Researchers should also examine whether the intervention reduces opioid requirements, shortens PACU length of stay, improves physiological stability, and increases patient satisfaction. Comparative studies could determine which components or combinations provide the greatest clinical benefit. Overall, the study provides evidence that a structured, nurse-led non-pharmacological intervention can significantly reduce pain and anxiety during immediate post-anesthesia recovery. Its simplicity, safety, and low resource requirements support its potential integration into routine postoperative nursing care, particularly in general hospitals in Baubau and similar healthcare settings.

CONCLUSION

The structured non-pharmacological intervention consisting of slow deep breathing, calming music, therapeutic communication, and comfort positioning was effective in reducing pain and anxiety among patients during post-anesthesia recovery. The intervention group demonstrated significantly greater reductions in pain and anxiety scores than the control group. These interventions can therefore be integrated into routine post-anesthesia nursing care as safe, simple, and low-cost complementary measures without replacing standard pharmacological treatment.

ACKNOWLEDGMENTS

The authors sincerely thank the leadership of Baubau Polytechnic and the management of Baubau City Regional General Hospital (RSUD Kota Baubau) for their support, cooperation, and facilities throughout this study. Appreciation is also extended to the healthcare professionals and all participants who contributed their time and valuable information to the successful completion of this research.

DAFTAR PUSTAKA

Admiraal, M., Hermanides, J., Meinsma, S. L., Wartenberg, H. C. H., Rutten, M. V. H., Heine, Y., Kallewaard, J. W., Hollmann, M. W., & Hermanns, H. (2023). The effectiveness of a

- transitional pain service in patients undergoing surgery with an increased risk of developing chronic postsurgical pain (TRUSt study). A randomized clinical trial. *Journal of Clinical Anesthesia*, 91, 111262. <https://doi.org/https://doi.org/10.1016/j.jclinane.2023.111262>
- Alcantara, R., Arenas, E. N., Azcona, J., Pitarch, M., Vall, E., Vila-Trias, E., Ejarque, B., Maiques, J. M., & Montes, A. (2025). Local anaesthesia and pain management in image-guided breast interventions: Empathy in action. *European Journal of Radiology*, 189, 112176. <https://doi.org/https://doi.org/10.1016/j.ejrad.2025.112176>
- Amodeo, G., Galimberti, G., Ceruti, S., Riboldi, B., Franchi, S., & Sacerdote, P. (2025). Physical exercise ameliorates pain, mood alterations and neuroinflammation in a murine model of osteoarthritis. *Life Sciences*, 374, 123710. <https://doi.org/https://doi.org/10.1016/j.lfs.2025.123710>
- Amraoui, J., Leclerc, G., Jarlier, M., Diaz, J., Guler, R., Demoly, C., Verin, C., Rey Dit Guzer, S., Chalbos, P., Moussion, A., Taoum, C., Neron, M., & Philibert, L. (2024). Cardiac coherence and medical hypnosis: a feasibility study of a new combined approach for managing preoperative anxiety in patients with breast or gynaecological cancer. *BJA Open*, 12, 100309. <https://doi.org/https://doi.org/10.1016/j.bjao.2024.100309>
- Barra, M. E., Solt, K., Yu, X., & Edlow, B. L. (2024). Restoring consciousness with pharmacologic therapy: Mechanisms, targets, and future directions. *Neurotherapeutics*, 21(4), e00374. <https://doi.org/https://doi.org/10.1016/j.neurot.2024.e00374>
- Bolt, R., Hyslop, M. C., Herbert, E., Papaioannou, D. E., Totton, N., Wilson, M. J., Clarkson, J., Evans, C., Ireland, N., Kettle, J., Marshman, Z., Norrington, A. C., Paton, R. H., Vernazza, C., Deery, C., Albadri, S., Armstrong, L., Atkins, S., Babb, M., ... Young, T. (2024). The MAGIC trial: a pragmatic, multicentre, parallel, noninferiority, randomised trial of melatonin versus midazolam in the premedication of anxious children attending for elective surgery under general anaesthesia. *British Journal of Anaesthesia*, 132(1), 76-85. <https://doi.org/https://doi.org/10.1016/j.bja.2023.10.011>
- Cao, X., Wang, B., Liu, M., & Li, J. (2024). Effect of recorded mother's voice on emergence delirium in pediatric patients: a systematic review with meta-analysis. *Jornal de Pediatria*, 100(3), 231-241. <https://doi.org/https://doi.org/10.1016/j.jpmed.2023.08.008>
- Chen, X., Chen, L., & Gao, Y. (2024). The impact of music on anxiety, pain, and blood pressure in ophthalmic surgery: A systematic review and meta-analysis. *Complementary Therapies in Medicine*, 83, 103062. <https://doi.org/https://doi.org/10.1016/j.ctim.2024.103062>
- Cohen, S. P., Doshi, T. L., Munjupong, C. O. L. S., Qian, C., Chalermkitpanit, P., Pannangpetch, P., Noragrai, K., Wang, E. J., Williams, K. A., Christo, P. J., Euasobhon, P., Ross, J., Sivanesan, E., Ukritchon, S., & Tontisirin, N. (2024). Multicenter, randomized, controlled comparative-effectiveness study comparing virtual reality to sedation and standard local anesthetic for pain and anxiety during epidural steroid injections. *The Lancet Regional Health - Southeast Asia*, 27, 100437. <https://doi.org/https://doi.org/10.1016/j.lansea.2024.100437>
- Dewanjee, S., Sohel, M., Hossain, M. S., Ansari, F., Islam, M. T., Sultana, F., Al Mamun, A., Islam, M. M., & Amin, M. N. (2023). A comprehensive review on clinically proven natural products in the management of nerve pain, with mechanistic insights. *Heliyon*, 9(5), e15346. <https://doi.org/https://doi.org/10.1016/j.heliyon.2023.e15346>
- Herrero Babiloni, A., Provost, C., Charlebois-Plante, C., De Koninck, B. P., Apinis-Deshaies, A., De Beaumont, L., Lavigne, G. J., & Martel, M. O. (2024). The Contribution of Sleep Quality and Psychological Factors to the Experience of Within-Day Pain Fluctuations Among Individuals With Temporomandibular Disorders. *The Journal of Pain*, 25(9), 104576. <https://doi.org/https://doi.org/10.1016/j.jpain.2024.104576>

- Hung, K.-C., Kao, C.-L., Ho, C.-N., Hsing, C.-H., Chang, Y.-J., Wang, L.-K., Liao, S.-W., & Chen, I.-W. (2024). The impact of perioperative ketamine or esketamine on the subjective quality of recovery after surgery: a meta-analysis of randomised controlled trials. *British Journal of Anaesthesia*, 132(6), 1293-1303. <https://doi.org/https://doi.org/10.1016/j.bja.2024.03.012>
- Kaul, I., Busby, K., & Yeh, A. M. (2025). Integrative medicine consults in a pediatric hospital: A case series. *EXPLORE*, 21(6), 103259. <https://doi.org/https://doi.org/10.1016/j.explore.2025.103259>
- Ma, P., Li, G., Meng, D., Gan, R., Fang, P., Gao, C., & Wang, D. (2025). The effects of increased screen time on post-surgical pain and pain memory among children with sleep-disordered breathing. *American Journal of Otolaryngology*, 46(1), 104550. <https://doi.org/https://doi.org/10.1016/j.amjoto.2024.104550>
- Mohammadi, M. M., & Abdollahzadeh, N. (2025). The effect of chamomile on postoperative pain: A systematic review and meta-analysis. *Heliyon*, 11(7), e43071. <https://doi.org/https://doi.org/10.1016/j.heliyon.2025.e43071>
- Mosneag, I.-E., Flaherty, S. M., Wykes, R. C., & Allan, S. M. (2024). Stroke and Translational Research – Review of Experimental Models with a Focus on Awake Ischaemic Induction and Anaesthesia. *Neuroscience*, 550, 89-101. <https://doi.org/https://doi.org/10.1016/j.neuroscience.2023.11.034>
- Nguyen, M., Liu, E., Karimuddin, A. A., Ghuman, A., & Conklin, A. I. (2025). Harnessing the power of nature in surgery: A systematic scoping review of nature prescribing and measures of benefit. *Surgery*, 187, 109657. <https://doi.org/https://doi.org/10.1016/j.surg.2025.109657>
- Que, M., Li, S., Xia, Q., Li, X., Luo, X., Zhan, G., & Luo, A. (2024). Microbiota-gut-brain axis in perioperative neurocognitive and depressive disorders: Pathogenesis to treatment. *Neurobiology of Disease*, 200, 106627. <https://doi.org/https://doi.org/10.1016/j.nbd.2024.106627>
- Reddy, D. S., Golub, V. M., Ramakrishnan, S., Churn, S. B., Shapiro, L. A., Iannucci, J., Pitkänen, A., Galanopoulou, A. S., Maganti, R., & Boison, D. (2025). Advances and challenges in experimental models of posttraumatic epilepsy for therapeutic interventions. *Pharmacological Reviews*, 77(5), 100080. <https://doi.org/https://doi.org/10.1016/j.pharmr.2025.100080>
- Song, F., Wang, Z., Zhang, X., Yu, Z., & Li, Z. (2025). Effect of different perioperative music interventions on anxiety and blood pressure levels during intravitreal injections. *Acta Psychologica*, 258, 105264. <https://doi.org/https://doi.org/10.1016/j.actpsy.2025.105264>
- Sun, H., Lu, Y., & Wang, Y. (2025). Research progress of liposomal bupivacaine and its value in perioperative pain management. *JPRAS Open*, 45, 311-316. <https://doi.org/https://doi.org/10.1016/j.jptra.2025.06.022>
- Tan, C. W., Koh, J. Z., Jin, H., Han, N.-L. R., Cheng, S.-M., Ta, A. W. A., Goh, H. L., & Sng, B. L. (2024). Machine learning approach to predict postoperative pain after spinal morphine administration during caesarean delivery. *Heliyon*, 10(23), e40602. <https://doi.org/https://doi.org/10.1016/j.heliyon.2024.e40602>
- Titan, A. L., Naderalvojoud, B., Suarez, P., Coquet, J., Baiu, I., Hernandez-Boussard, T., & Curtin, C. (2025). Post-operative pain management in elders. *Heliyon*, 11(12), e43465. <https://doi.org/https://doi.org/10.1016/j.heliyon.2025.e43465>
- Wang, W.-T., Feng, F., Zhang, M.-M., Tian, X., Yang, Q.-Q., Li, Y.-J., Tao, X.-X., Xu, Y.-L., Dou, E., Wang, J.-Y., & Zeng, X.-Y. (2024). Red nucleus mGluR2 but not mGluR3 mediates inhibitory effect in the development of SNL-induced neuropathological pain by suppressing the expressions of TNF- α and IL-1 β . *Neurochemistry International*, 179, 105840. <https://doi.org/https://doi.org/10.1016/j.neuint.2024.105840>
- Westlund, K. N., Montera, M., Goins, A. E., Shilling, M. W., Afaghpour-Becklund, M., Alles,

-
- S. R. A., & Elise Hui, S. (2024). Epigenetic HDAC5 Inhibitor Reverses Craniofacial Neuropathic Pain in Mice. *The Journal of Pain*, 25(2), 428-450. <https://doi.org/https://doi.org/10.1016/j.jpain.2023.09.015>
- Xu, W., Zheng, Y., Suo, Z., Yang, Y., Yang, J., Wang, Q., Zhou, B., & Ni, C. (2024). Potential vicious cycle between postoperative pain and sleep disorders: A bibliometric analysis. *Heliyon*, 10(15), e35185. <https://doi.org/https://doi.org/10.1016/j.heliyon.2024.e35185>
- You, Z., Jain, S., Shen, S., Mao, J., & Martyn, J. A. J. (2025). Pathophysiology and management of burn injury-induced pain. *Burns Open*, 10, 100396. <https://doi.org/https://doi.org/10.1016/j.burnso.2025.100396>
- Zako, J., Daccache, N., Morisson, L., Richebé, P., & Laferrière-Langlois, P. (2025). Virtual reality for reduction of intraprocedural pharmacological sedation and analgesia in adult patients: A systematic review and meta-analysis. *Anaesthesia Critical Care & Pain Medicine*, 44(2), 101483. <https://doi.org/https://doi.org/10.1016/j.accpm.2025.101483>